FACTA UNIVERSITATIS (NIŠ) SER. MATH. INFORM. Vol. 34, No 1 (2019), 1–11 https://doi.org/10.22190/FUMI1901001E

# *m*-WEAK AMENABILITY OF (2*n*)TH DUALS OF BANACH ALGEBRAS

#### Mina Ettefagh

**Abstract.** Let A be a Banach algebra such that its (2n)th dual for some  $(n \ge 1)$  with first Arens product is m-weakly amenable for some (m > 2n). We introduce some conditions by which if m is odd [even], then A is weakly [2-weakly] amenable. **Keywords**. Banach Algebra; Amenability; normed spaces; bilinear map.

## 1. Introduction and Preliminaries

Let X be a normed space and X' be the topological dual space of X; the value of  $f \in X'$  at  $x \in X$  is denoted by  $\langle f, x \rangle$ . By writing (X')' = X'' we regard X as a subspace of X'' by means of the natural mapping  $i : X \to X''(x \longmapsto \hat{x})$  where  $\langle \hat{x}, f \rangle = \langle f, x \rangle (f \in X')$ . Also we denote the *n*th dual of X by  $X^{(n)}$ . The weak topology on X is denoted by  $w = \sigma(X, X')$  and weak<sup>\*</sup>-topology on X' is denoted by  $w^* = \sigma(X', X)$ .

Now let X, Y and Z be normed spaces and  $f: X \times Y \to Z$  be a continuous bilinear map. Arens in [2] offers two extensions  $f^{***}$  and  $f^{t***t}$  of f from  $X'' \times Y''$  to Z'' as following

$$(1)f^*: Z' \times X \longrightarrow Y' \left( \left\langle f^*(z', x), y \right\rangle = \left\langle z', f(x, y) \right\rangle \right),$$
  

$$(2)f^{**}: Y'' \times Z' \longrightarrow X' \left( \left\langle f^{**}(y'', z'), x \right\rangle = \left\langle y'', f^*(z', x) \right\rangle \right),$$
  

$$(3)f^{***}: X'' \times Y'' \longrightarrow Z'' \left( \left\langle f^{***}(x'', y''), z' \right\rangle = \left\langle x'', f^{**}(y'', z') \right\rangle \right).$$

The mapping  $f^{***}$  is the unique extension of f such that  $x^{''} \mapsto f^{***}(x^{''}, y^{''})$  from  $X^{''}$  into  $Z^{''}$  is  $w^* - w^*$ -continuous for every  $y^{''} \in Y^{''}$ . Let now  $f^t : Y \times X \to Z$  be the transpose of f defined by  $f^t(y, x) = f(x, y)$  for  $x \in X$  and  $y \in Y$ . We can extend  $f^t$  as above to  $f^{t***}$  and then we have the mapping  $f^{t***t} : X^{''} \times Y^{''} \longrightarrow Z^{''}$ .

Received February, 25, 2018; Accepted November 26, 2018 2010 Mathematics Subject Classification. Primary 46H25

If  $f^{***} = f^{t***t}$  then f is called *Arens regular*. The mapping  $y'' \mapsto f^{t***t}(x'', y'')$  from Y'' into Z'' is  $w^* - w^*$ -continuous for every  $x'' \in X''$ . Arens regularity of f is equivalent to the following equality

$$\lim_{i} \lim_{j} \left\langle z', f(x_i, y_i) \right\rangle = \lim_{j} \lim_{i} \left\langle z', f(x_i, y_i) \right\rangle,$$

whenever both limits exist for any  $z' \in Z'$  and all bounded nets  $(x_i)$  and  $(y_j)$  that  $w^*$ -converges to  $x'' \in X''$  and  $y'' \in Y''$ , respectively.

Throughout this paper A is a Banach algebra. This algebra is called Arens regular if its multiplication as a bilinear map  $\pi : A \times A \to A(\pi(a, b) = ab)$  is Arens regular. We shall frequently use Goldstine's theorem: for each  $a^{''} \in A^{''}$ , there is a net  $(a_i)$  in A such that  $a^{''} = w^* - \lim_i \widehat{a_i}$ . Now let  $a^{''} = w^* - \lim_i \widehat{a_i}$  and  $b^{''} = w^* - \lim_j \widehat{b_j}$  be elements of  $A^{''}$ . The first and second Arens products on  $A^{''}$  are denoted by symbols

elements of A. The first and second *Arens products* on A are denoted by symbols  $\Box$  and  $\Diamond$  respectively and defined by

$$a^{''} \Box b^{''} = \pi^{***}(a^{''}, b^{''}) \ , \ a^{''} \Diamond b^{''} = \pi^{t***t}(a^{''}, b^{''}).$$

It is easy to show that

$$a^{''}\square b^{''} = w^* - \lim_i w^* - \lim_j \widehat{a_i b_j} \quad , \quad a^{''} \Diamond b^{''} = w^* - \lim_j w^* - \lim_i \widehat{a_i b_j}.$$

On the other hand, we can define above Arens products in stages as follows. Let  $a, b \in A, f \in A'$  and  $F, G \in A''$ .

(1) Define f.a in A' by  $\langle f.a,b \rangle = \langle f,ab \rangle$ , and a.f in A' by  $\langle a.f,b \rangle = \langle f,ba \rangle$ .

(2) Define F.f in A' by  $\langle F.f, a \rangle = \langle F, f.a \rangle$ , and f.F in A' by  $\langle f.F, a \rangle = \langle F, a.f \rangle$ .

(3) Define  $F \Box G$  in A'' by  $\langle F \Box G, f \rangle = \langle F, G.f \rangle$ , and  $F \Diamond G$  in A'' by  $\langle F \Diamond G, f \rangle = \langle G, f.F \rangle$ .

Then  $(A'', \Box)$  and  $(A'', \Diamond)$  are Banach algebras, see [2, 7] for further details.

Now let E be a Banach A-module, then E' is a Banach A-module under actions

(1.1) 
$$\langle a.f, x \rangle = \langle f, xa \rangle, \langle f.a, x \rangle = \langle f, ax \rangle \quad (a \in A, x \in E, f \in E'),$$

and  $E^{''}$  is a Banach  $(A^{''}, \Box)$ -module under actions

(1.2) 
$$F \bullet \Lambda = w^* - \lim_i w^* - \lim_j \widehat{a_i x_j} \quad , \quad \Lambda \bullet F = w^* - \lim_j w^* - \lim_i \widehat{x_j a_i} \quad ,$$

where  $F = w^* - \lim_i \hat{a}_i$  and  $\Lambda = w^* - \lim_j \hat{x}_j$  such that  $(a_i)$  and  $(x_j)$  are bounded nets in A and E, respectively.

For a Banach  $A-\mathrm{module}\ E,$  the continuous linear map  $D:A\to E$  is called a derivation if

$$D(ab) = aD(b) + D(a)b \qquad (a, b \in A).$$

For  $x \in E$  the derivation  $\delta_x : A \to E$  given by  $\delta_x(a) = ax - xa$  is called *inner derivation*. The Banach algebra A is called *amenable* if every derivation  $D : A \to E'$  is inner, for each Banach A-module E, [12]. If every derivation  $D : A \to A' [D : A \to A^{(n)}, n \in N]$  is inner, A is called *weakly amenable [n-weakly amenable]*, see also [3, 6] for details.

**Proposition 1.1.** Let A be a Banach algebra and E be a Banach A-module and  $D: A \to E$  is a continuous derivation, then  $D'': (A'', \Box) \to E''$  is a continuous derivation, where E'' is considered as a Banach A''-module in accordance to formula (1.2). ([7], theorem 2.7.17).

**Proposition 1.2.** Let A be a Banach algebra, and let  $n \in \mathbb{N}$ . If A is (n+2)-weakly amenable, then A is n-weakly amenable [6].

It was shown in [4, 11] that the *n*-weak amenability of A'' implies the *n*-weak amenability of A. In [13] it was shown that if the Banach algebra A is complete Arens regular and every derivation  $D : A \to A'$  is weakly compact, the weak amenability of  $A^{(2n)}$  for some  $n \ge 1$  implies of A. The authors in [5, 10] determined the conditions that the 3-weak amenability of A'' implies the 3-weak amenability of A, and the 3-weak amenability of  $A^{(2n)}$  for some  $(n \ge 1)$  implies the 3-weak amenability of A.

In this paper we always use the first Arens product  $\Box$  on Banach algebra  $A^{(2n)} (n \ge 1)$ . First, we introduce the following important notation.

If  $A^{(3)}$  is considered as a dual space of  $A^{''}$ , we will use the symbol  $A^{(3)} = (A^{''})'$ and the formula (1.1) for  $A^{''}$ -module actions on  $A^{(3)}$ . On the other hand, the symbol  $A^{(3)} = (A^{'})^{''}$  shows  $A^{(3)}$  as the second dual of  $A^{'}$ , and we will use the formula (1.2) for  $A^{''}$ -module actions on  $A^{(3)}$ .

In Section 2 we investigate

- $\triangleright$  two A''-module actions on  $A^{(3)} = (A')''$  and  $A^{(3)} = (A'')'$ ,
- $\triangleright$  two  $A^{(4)}$ -module actions on  $A^{(5)} = ((A')'')''$  and  $A^{(5)} = ((A'')'')',$
- :

÷

 $\triangleright \text{ two } A^{(2n)} - \text{module actions on } A^{(2n+1)} = (((A^{'})^{''})^{''} \cdots)^{''} \text{ and } A^{(2n+1)} = ((((A^{''})^{''}) \cdots)^{''})^{'},$ 

and also in Section 3 we investigate

- ▷ two A''-module actions on  $A^{(4)} = ((A')')''$  and  $A^{(4)} = ((A'')')'$ ,
- $\triangleright$  two  $A^{(4)}$ -module actions on  $A^{(6)} = (((A^{'})^{'})^{''})^{''}$  and  $A^{(6)} = ((A^{''})^{''})^{'})^{'}$ ,

$$\triangleright \text{ two } A^{(2n)} - \text{module actions on } A^{(2n+2)} = ((((A')')'')'' \cdots)'' \text{ and } A^{(2n+2)} = (((((A'')'') \cdots)''))')'.$$

In these sections we shall frequently use the formulas (1.1) and (1.2), and the induction process. In each case we will find conditions to make two different actions equal. These are generalizations of the methods in [9]. In Section 4 we consider continuous derivations  $D: A \to A'$  and  $D: A \to A''$ . This section is about pulling the inner-ness of (2n)-th duals of D down to the inner-ness of D. In our main results in Section 5 we show, using the conditions obtained from previous sections, that m-weak amenability of  $A^{(2n)}$  for some  $n \ge 1$  and m > 2n implies weak or 2-weak amenability of A.

## **2.** $A^{(2n)}$ -Module actions on $A^{(2n+1)}$

First, for n = 1, we consider two A''-module actions on  $A^{(3)}$  when  $A^{(3)} = (A')''$ and  $A^{(3)} = (A'')'$ . Let  $a^{(3)} = w^* - \lim_{\alpha} \widehat{a'_{\alpha}}$ ,  $a'' = w^* - \lim_{\beta} \widehat{a_{\beta}}$  and  $b'' = w^* - \lim_{i} \widehat{b_i}$ in which  $(a'_{\alpha})$  is a bounded net in A' and  $(a_{\beta})$  and  $(b_i)$  are bounded nets in A. For the left A''-module action on  $A^{(3)} = (A')''$  we can write

(2.1) 
$$\langle a^{''} \bullet a^{(3)}, b^{''} \rangle = \lim_{\beta} \lim_{\alpha} \langle b^{''}, a_{\beta}.a^{'}_{\alpha} \rangle = \lim_{\beta} \lim_{\alpha} \lim_{\alpha} \langle a^{'}_{\alpha}, b_{i}a_{\beta} \rangle,$$

and for the left A''-module action on  $A^{(3)} = (A^{''})^{'}$  as dual of  $A^{''}$  we can write

(2.2) 
$$\langle a^{''}.a^{(3)},b^{''}\rangle = \langle a^{(3)},b^{''}\Box a^{''}\rangle = \lim_{\alpha} \lim_{i} \lim_{\beta} \langle a^{'}_{\alpha},b_{i}a_{\beta}\rangle$$

This shows that two left A''-module actions on  $A^{(3)} = (A'')'$  and  $A^{(3)} = (A')''$  are not equal. But two right A''-module actions  $a^{(3)} \bullet a''$  and  $a^{(3)} \cdot a''$  are equal, because they are obtained from  $\pi^{*(***)}$  and  $\pi^{(***)*}$ , which obviously are equal.

**Proposition 2.1.** Let A be a Banach algebra with the following conditions:

- (i) A is Arens regular,
- (ii) the map  $A \times A' \to A' \left( (a, a') \longmapsto a.a' \right)$  is Arens regular.

Then two A''-module actions on  $A^{(3)} = (A^{'})^{''}$  and  $A^{(3)} = (A^{''})^{'}$  coincide.

*Proof.* It is enough to prove that the left module actions in (2.1) and (2.2) coincide. We begin with the equation (2.1)

4

m-Weak Amenability of (2n)th Duals of Banach Algebras

This proves the equality of (2.1) and (2.2).

Now for n = 2 we consider two  $A^{(4)}$ -module actions on  $A^{(5)}$  when  $A^{(5)} = ((A^{'})^{''})^{''}$  and  $A^{(5)} = ((A^{''})^{''})^{'}$ . Let  $a^{(5)} = w^* - \lim_{\alpha} \widehat{a_{\alpha}^{(3)}}, a^{(4)} = w^* - \lim_{\beta} \widehat{a_{\beta}^{''}}$  and  $b^{(4)} = w^* - \lim_{i} \widehat{b_i^{''}}$  such that  $(a_{\alpha}^{(3)})$  is a bounded net in  $A^{(3)}$  and  $(a_{\beta}^{''}), (b_i^{''})$  are bounded nets in  $A^{''}$ . For the left  $A^{(4)}$ -module action on  $A^{(5)} = ((A^{'})^{''})^{''}$  we have (2.3)  $\langle a^{(4)} \bullet a^{(5)}, b^{(4)} \rangle = \lim_{\beta} \lim_{\alpha} \langle b^{(4)}, a_{\beta}^{''} \bullet a_{\alpha}^{(3)} \rangle = \lim_{\beta} \lim_{\alpha} \lim_{\alpha} \langle a_{\beta}^{''} \bullet a_{\alpha}^{(3)}, b_i^{''} \rangle$ ,

and for the left  $A^{(4)}-\mathrm{module}$  action on  $A^{(5)}=((A^{''})^{''})^{'}$  we have

(2.4) 
$$\langle a^{(4)}.a^{(5)},b^{(4)}\rangle = \langle a^{(5)},b^{(4)}\Box a^{(4)}\rangle = \lim_{\alpha} \lim_{i} \lim_{\beta} \langle a^{(3)}_{\alpha},b^{''}_{i}\Box a^{''}_{\beta}\rangle$$

But two right  $A^{(4)}$ -module actions  $a^{(5)} \bullet a^{(4)}$  and  $a^{(5)} \cdot a^{(4)}$  are equal. To prove the equality of the left  $A^{(4)}$ -module actions on  $A^{(5)}$ , we need the equality of two left  $A^{''}$ -module actions on  $A^{(3)} = (A^{''})^{'}$  and  $A^{(3)} = (A^{'})^{''}$  by the following lemma, whose proof is straightforward.

Lemma 2.1. Let A be a Banach algebra with the following conditions

(i) A'' is Arens regular,

(ii) the map 
$$A'' \times A''' \to A''' \left( (a'', a^{(3)}) \longmapsto a''.a^{(3)} \right)$$
 is Arens regular.

Then the conditions of the proposition 2.1 hold.

**Proposition 2.2.** Let A be a Banach algebra with the conditions of Lemma 2.1, then two  $A^{(4)}$ -module actions on  $A^{(5)} = ((A^{'})^{''})^{''}$  and  $A^{(5)} = ((A^{''})^{''})^{''}$  coincide.

*Proof.* By Lemma 2.1, two left A''-module actions on  $A^{(3)} = (A^{'})^{''}$  and  $A^{(3)} = (A^{''})^{'}$  are equal. We begin with the equality (2.3)

$$\begin{array}{lll} \langle a^{(4)} \bullet a^{(5)}, b^{(4)} \rangle & = & \lim_{\beta} \lim_{\alpha} \langle b^{(4)}, a^{''}_{\beta} \bullet a^{(3)}_{\alpha} \rangle \\ & = & \lim_{\alpha} \lim_{\beta} \langle b^{(4)}, a^{''}_{\beta}.a^{(3)}_{\alpha} \rangle \\ & = & \lim_{\alpha} \lim_{\beta} \lim_{i} \langle a^{''}_{\alpha}.a^{(3)}_{\alpha}, b^{''}_{i} \rangle \\ & = & \lim_{\alpha} \lim_{\beta} \lim_{i} \langle a^{(3)}_{\alpha}, b^{''}_{i} \Box a^{''}_{\beta} \rangle \\ & = & \lim_{\alpha} \lim_{i} \lim_{\beta} \lim_{\beta} \langle a^{(3)}_{\alpha}, b^{''}_{i} \Box a^{''}_{\beta} \rangle. \end{array}$$

This proves the equality of (2.3) and (2.4).

We can extend our results to each n, in the following proposition.

**Proposition 2.3.** Let A be a Banach algebra with the following conditions for some  $n \ge 1$ 

- (i)  $A^{2n-2}$  is Arens regular,
- (ii) the map  $A^{(2n-2)} \times A^{(2n-1)} \to A^{(2n-1)} ((a, f) \mapsto a.f)$  is Arens regular.

## **3.** $A^{(2n)}$ -Module actions on $A^{(2n+2)}$

Our methods in this section are similar to those in Section 2, so we just mention our conclusions very briefly.

**Proposition 3.1.** Let A be a Banach algebra with the following conditions

- (i)  $A^{''}$  is Arens regular,
- (ii) the maps  $A \times A' \to A'$   $((a, f) \mapsto a.f)$  and  $A' \times A \to A'$   $((f, a) \mapsto f \cdot a)$  are Arens regular.

Then two A''-module actions on  $A^{(4)} = ((A^{'})^{'})^{''}$  and  $A^{(4)} = ((A^{''})^{'})^{'}$  coincide.

To extend our results to  $A^{(6)}$  we need the following lemma that is similar to Lemma 2.1.

Lemma 3.1. Let A be a Banach algebra with the following conditions

- (i)  $A^{(4)}$  is Arens regular,
- (ii) the maps  $A'' \times A''' \to A'''$  ((F,  $\Lambda$ )  $\longmapsto$  F. $\Lambda$ ) and  $A''' \times A'' \to A'''$  (( $\Lambda$ , F)  $\longmapsto \Lambda$ .F) are Arens regular.

Then the conditions of the proposition 3.1 hold.

**Proposition 3.2.** Let A be a Banach algebra with the conditions of Lemma 3.1, then two  $A^{(4)}$ -module actions on  $A^{(6)} = (((A')')'')''$  and  $A^{(6)} = (((A'')''))'$  coincide.

Similar to the proposition 2.3 we have the following extension.

**Proposition 3.3.** Let A be a Banach algebra with the following conditions for some  $n \ge 1$ 

6

m-Weak Amenability of (2n)th Duals of Banach Algebras

(i) 
$$A^{(2n)}$$
 is Arens regular,

(*ii*) the maps 
$$(A^{(2n-2)} \times A^{(2n-1)} \to A^{(2n-1)}(f, \Lambda) \mapsto f.\Lambda)$$
 and  $(A^{(2n-1)} \times A^{(2n-2)} \to A^{(2n-1)}(\Lambda, f) \mapsto \Lambda.f)$  are Arens regular.

Then two  $A^{(2n)}$ -module actions on  $A^{(2n+2)} = (((((A')')'' \cdots)'')')'$  and  $A^{(2n+2)} = ((((((A'')'') \cdots)''))')'$  coincide.

**Remark 3.1.** There are many other module actions in sections 2 and 3 that we do not need to mention. We just introduce the module actions that we will apply in the next sections.

# 4. Duals of derivations $D: A \to A'$ and $D: A \to A''$

We consider the following duals of the continuous derivation  $D:A\to A^{'}$  as in the proposition 1.1

$$\begin{array}{rcl} D^{''} & : & A^{''} \longrightarrow A^{(3)} = (A^{'})^{''} \\ D^{(4)} & : & A^{(4)} = (A^{''})^{''} \longrightarrow A^{(5)} = ((A^{'})^{''})^{''} \\ \vdots \\ D^{(2n)} & : & A^{(2n)} = ((A^{''})^{''} \cdots)^{''} \longrightarrow A^{(2n+1)} = (((A^{'})^{''})^{''} \cdots)^{''}, \end{array}$$

and the following duals of the continuous derivation  $D: A \to A^{''} = (A^{'})^{'}$ 

$$\begin{array}{rcl} D^{''} & : & A^{''} \longrightarrow A^{(4)} = ((A^{'})^{''})^{''} \\ D^{(4)} & : & A^{(4)} = (A^{''})^{''} \longrightarrow A^{(6)} = (((A^{'})^{'})^{''})^{''} \\ \vdots \\ D^{(2n)} & : & A^{(2n)} = ((A^{''})^{''} \cdots)^{''} \longrightarrow A^{(2n+2)} = (((A^{'})^{'})^{''} \cdots)^{''} \end{array}$$

We recall that the above  $D'', D^{(4)}, \dots, D^{(2n)}$  are also continuous derivations.

**Lemma 4.1.** Let A be a Banach algebra with the hypothesis of the proposition 2.1. If the second dual D'' of the continuous derivation  $D : A \to A'$  is inner, then D is inner.

*Proof.* Since  $D'': A'' \longrightarrow A^{(3)} = (A')''$  is inner, there is  $a^{(3)} \in A^{(3)}$  such that for every  $a'' \in A''$  we have

$$D^{''}(a^{''}) = a^{''} \bullet a^{(3)} - a^{(3)} \bullet a^{''},$$

Now let  $a' =: i^*(a^{(3)})$ , where  $i : A \longrightarrow A''$  is the natural map and so  $i^* : (A'')' = A^{(3)} \longrightarrow A'$ . Then for each  $a, b \in A$  we can write

hence D(a) = a.a' - a'.a.

Using the reasoning similar to that in the proof of the previous lemma we have the next lemmas.

**Lemma 4.2.** Let A be a Banach algebra with hypothesis of the proposition 2.3. If (2n)-th dual  $D^{(2n)}$  of the continuous derivation  $D: A \to A'$  is inner for some  $n \ge 1$ , then  $D^{(2n-2)}, \dots, D''$  and D are inner.

**Lemma 4.3.** Let A be a Banach algebra with the hypothesis of the proposition 3.3. If (2n)-th dual  $D^{(2n)}$  of the continuous derivation  $D: A \to A''$  is inner for some  $n \ge 1$ , then  $D^{(2n-2)}, \dots, D''$  and D are inner.

## 5. Main results

The results of this section are immediate consequences of the previous sections, and so the proofs will be very short.

**Proposition 5.1.** Let A be a Banach algebra with the hypothesis of the proposition 2.1. If  $A^{''}$  is weakly amenable, then A is weakly amenable.

*Proof.* Suppose that  $D : A \to A'$  is a continuous derivation. Then  $D'': A'' \to A^{(3)} = (A')''$  is a continuous derivation by the proposition 1.1. But two A''-module actions on  $A^{(3)} = (A')''$  and  $A^{(3)} = (A'')'$  are equal by the proposition 2.1, hence  $D'': A'' \to A^{(3)} = (A'')'$  is also a continuous derivation in which  $A^{(3)} = (A'')'$  is considered a dual of A''. Since A'' is weakly amenable, then D'' is inner. Therefore D is inner by Lemma 4.1. This completes the proof.  $\Box$ 

Using the same reasoning as in the proof of the previous proposition we have the next results.

**Proposition 5.2.** Let A be a Banach algebra with the conditions in the proposition 2.3 for some  $n \ge 1$ . If  $A^{(2n)}$  is weakly amenable, then A is weakly amenable.

*Proof.* This is a consequence of Lemma 4.2.  $\Box$ 

**Proposition 5.3.** Let A be a Banach algebra with the conditions of the proposition 3.3 for some  $n \ge 1$ . If  $A^{(2n)}$  is 2-weakly amenable, then A is 2-weakly amenable.

*Proof.* This is a consequence of Lemma 4.3.  $\Box$ 

Finally we obtain the following general results.

**Corollary 5.1.** Let  $n \ge 1, m > 2n$  and suppose that A is a Banach algebra such that the conditions of the preposition 2.3 hold for n. If  $A^{(2n)}$  is m-weakly amenable and m is odd, then A is weakly amenable.

*Proof.*  $A^{(2n)}$  is weakly amenable by the proposition 1.2, and hence A is weakly amenable by the proposition 5.2.

**Corollary 5.2.** Let  $n \ge 1, m > 2n$  and suppose that A be a Banach algebra such that the conditions of the preposition 3.3 hold for n. If  $A^{(2n)}$  is m-weakly amenable and m is even, then A is 2-weakly amenable.

*Proof.*  $A^{(2n)}$  is 2-weakly amenable by the proposition 1.2, and hence A is 2-weakly amenable by the proposition 5.3.

**Example 5.1.** Take a non-reflexive complex Banach space A and a bounded linear map  $\varphi: A \longrightarrow \mathbb{C}$ . One can define a multiplication on A by

$$ab =: \langle \varphi, b \rangle a , (a, b \in A)$$

This makes A a Banach algebra which is called *ideally factored algebra associated to*  $\varphi$  and sometimes it is denoted by  $A_{\varphi}$ , [1]. One can write for  $a, b \in A$ 

$$\varphi(ab) = \varphi(\langle \varphi, b \rangle a) = \langle \varphi, a \rangle \langle \varphi, b \rangle = \varphi(ba),$$

this shows that  $\varphi$  is multiplicative. It is easy to conclude the following equations

$$\begin{array}{rcl} a^{'}.a & = & \langle a^{'}, a \rangle \varphi \\ a.a^{'} & = & \langle \varphi, a \rangle a^{'} \\ a^{''}\Box b^{''} & = & a^{''} \Diamond b^{''} = \langle b^{''}, \varphi \rangle a^{'} \\ a^{'''}.a^{''} & = & \langle a^{'''}, a^{''} \rangle \widehat{\varphi} \\ a^{''}.a^{'''} & = & \langle a^{''}, \varphi \rangle a^{'''}, \end{array}$$

whenever  $a \in A, a' \in A', a'', b'' \in A''$  and  $a''' \in A'''$ . Now for bounded nets  $(a_i)$  and  $(a'_j)$  in A and A', respectively, we have

$$w^* - \lim_{j} w^* - \lim_{i} \widehat{a_i a'_j} = w^* - \lim_{j} w^* - \lim_{i} \langle \varphi, a_i \rangle \widehat{a'_j}$$
$$= \lim_{i} \langle \varphi, a_i \rangle w^* - \lim_{j} \widehat{a'_j}.$$

This proves Arens regularity of the map  $A \times A' \to A'((a, a') \mapsto a.a')$ . Since A is not reflexive, there exist bounded nets  $(a_i)$  and  $(a'_j)$  in A and A', respectively such that  $\lim_{i} \lim_{j} \langle a'_j, a_i \rangle \neq \lim_{j} \lim_{i} \langle a'_j, a_i \rangle$ , and hence the map  $A' \times A \to A'((a', a) \mapsto a'.a)$  is not Arens regular, because

$$\begin{split} w^* - \lim_{j} w^* - \lim_{i} \widehat{a'_{j}a_{i}} &= w^* - \lim_{j} w^* - \lim_{i} \langle a'_{j}, a_{i} \rangle \varphi \\ &\neq w^* - \lim_{i} w^* - \lim_{i} \langle a'_{j}, a_{i} \rangle \varphi. \end{split}$$

By using a similar reasoning we conclude that the map  $A^{''} \times A^{'''} \to A^{'''} ((a^{''}, a^{''}) \mapsto a^{''}.a^{''})$  is Arens regular, but the map  $A^{'''} \times A^{''} \to A^{'''} ((a^{'''}, a^{''}) \mapsto a^{'''}.a^{''})$  is not Arens regular. It is obvious that the algebras A and  $A^{(2n)}$  for all  $n \ge 1$  are Arens regular. In fact we have  $(A_{\varphi})^{''} = (A^{''})_{\varphi}$ . Finally, all the conditions of propositions in section 2 hold , but the conditions of section 3 hold in commutative case.

#### 6. Acknowledgment

I would like to thank the referees for carefully reading and giving some fruitful suggestions.

#### REFERENCES

- M. AMYARI and M. MIRZAVAZIRI: *Ideally factored algebras*, Acta. Math. Acad. Paedagog. Nyha'zi (N. S.). 24 (2008), 227-233.
- R. ARENS: The adjoint of a bilinear operation, Proc. Amer. Math. Soc., 2 (1951), 839-848.
- W. G. BADE, P. C. CURTIS and H. G. DALES: Amenability and weak amenability for Bearling and Lipschitz algebra, Proc. London Math. Soc., 55, no. 3 (1987), 359-377.
- S. BAROOTKOOB and H. EBRAHIMI VISHKI : Lifting derivations and n-weak amenability of the second dual of banach algebra, Bulletin of the Australian Mathematical Society, 83 (1) (2011), 122-129. doi: 10.1017/S0004972710001838.
- A. BODAGHI, M. ETTEFAGH, M. E. GORDJI, and A. MEDGHALCHI: Module structures on iterated duals of Banach algebras, An.st.Univ.Ovidius Constanta, 18(1) (2010), 63-80.
- H. G. DALES, F. GHAHRAMANI and N. GRONBAEK : Derivations into iterated duals of Banach algebras, Studia Math, 128, no.1 (1998), 19-54.
- 7. H. G. DALES: Banach algebra and Automatic continuity, Oxford university Press, 2000.
- 8. H. D. DALES, A. RODRIGUEZ-PALASCIOS and M. V. VELASCO : The second transpose of a derivation, J. London Math. Soc. (2) 64 (2001), 707-721.

m-Weak Amenability of (2n)th Duals of Banach Algebras

- M. ETTEFAGH: The third dual of a Banach algebra, Studia. Sci. Math. Hung, 45(1) (2008), 1-11.
- M. ETTEFAGH: 3-Weak amenability of (2n)-th duals of Banach algebras, Colloq. Math. Vol. 128, no.1 (2012), 25-33.
- A. JABBARI, A. JABBARI, M. S. MOSLEHIAN and H. R. E. VISHKI : Constructions preserving n-weak amenability of Banach algebras, Mathematica Bohemica 134 (4), (2009), 349-357.
- B. E. JOHNSON: Cohomology in Banach algebras, Mem. Amer. Math. Soc, 127 (1972).
- 13. A. MEDGHALCHI and T. YAZDANPANAH : Problems concerning n-weak amenability of a Banach algebra, Czecholovak Math. J, **55**(130) (2005), 863-876.

Mina Ettefagh Faculty of Science Department of Mathematics Tabriz Branch, Islamic Azad University, Tabriz, Iran etefagh@iaut.ac.ir; minaettefagh@gmail.com